Celkové vysledky - TISK
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L_L -—
E o 5 3
o = (TR [ -~
© T ﬁ o T 2 R : E 8 i
IS [m)] '*9 “q_) g = o >N >E
3 %) o 2 E o 5 S 6
© ) N o © e o
© o O =
» < 8
= 1.pokus P 1.pokus = 1.pokus | tr.body = 1.pokus | tr.body 1.pokus | tr.body P
" | 2.pokus " | 2.pokus " | 2.pokus | tr.body " | 2.pokus | tr.body 2.pokus | tr.body )
. 47-16 65,53 73,93 | (0) DNF | (0) DNF | (0)
1 |#AJECOV 2 29,04 1 66,68 2 8528 (0) 2 DNF (0) DNF (0) 0 7 1
e 76.02 65,37 7147 | (0) DNF | (0) DNF | (0)
2 | HLASNA TREBAN A 1 39,31 4 DNE 1 DNE 0) 1 DNE 0) DNF 0) 0 7 2
. 400:48 88,60 131,10 (10) DNF | (0) DNF | (0)
3 | ZADNi TREBAN 15 49.28 8 I , 10 +76.25] (0) 12 5F 0) DNF | (0) 0 45 13
) 63.70 69,16 439-26 | (30) DNF | (0) DNF | (0)
4 |HYSKOV 5 [57.08 | 19 [ss0t | 4 [137.42 (0) G (0) DNF | (0) 7 37 10
. 43,82 68,38 129,53 | (20) DNF | (0) DNF | (0)
5 | KARLSTEJN 14 onr 15 Fone 1 3 MonE 0) 10 onF 0) DNF | (0) 0 32 6
5 44,51 96,56 43180 | (10) DNF | (0) DNF | (0)
6 | TMAN 6 4843 | O [89,06 | ! [125,04 (0) 9 I'DNF (0) DNF | (0) . 32 7
DNF DNF DNF (0) DNF (0) DNF (0)
7 | BROUMY 8 DNF 13 DNF 13 DNF (0) 14 DNF (0) DNF (0) 0 48 16
5 DNF DNF DNF | (0) DNF | (0) DNF | (0)
8 | BAVORYNE M one 113 one {3 one ) | ™ one | (o) DNE T (0) 0 51 18
55,88 81,85 113,99 | (20) DNF | (0) DNF | (0)
9 | PODBRDY 7 DNF 9 404,57 9 BNF (0) 7 DNF (0) DNF (0) 0 32 8




64,12 72,84 92,52 | (0) DNF | (0) DNF | (0)
10 | TLUSTICE 4 8207 11 R 6 BNE | (0) 5 DNF | (0) DNF | (0) 0 26 4
o 32,33 70,45 106,80 | (0) DNF | (0) DNF | (0)
1| ZALUZ 3 DNF 2 73.05 5 'onF (0) 6 DNF | (0) DNF | (0) 0 16 3
. .. DNF DNF DNF | (0) DNF | (0) DNF | (0)
12 | MALE PRILEPY 13 SNE 13 == 13 DNE | (0) 14 DNE T (0) DNE T (0) 0 53 9
5458 73,50 462:25| (10) DNF | (0) DNF | (0)
13 | CHALOUPKY 10 49.25 7 ’ 7 7803 | (0) 3 DNE T (0) DNF | (0) 0 27 5
. . 67,38 81,44 130,94 | (30) DNF | (0) DNF | (0)
14 |HLASNA TREBANB | 9 T 12 e 8 BNE | (0) 11 DNE | (0) DNF | (0) 0 40 11
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= 1.pokus = 1.pokus = 1.pokus | tr.body = 1.pokus | tr.body 1.pokus | tr.body P
" | 2.pokus " | 2.pokus " | 2.pokus | tr.body " | 2.pokus | tr.body 2.pokus | tr.body )
. DNF DNF DNF | (0) DNF | (0) DNF | (0)
15| ZAJECOV 2 DNF 13 DNF 13 DNF | (0) 14 DNF | (0) DNF | (0) 0 42 1
s . DNF DNF DNF | (0) DNF | (0) DNF | (0)
16 | ZADNi TREBAN 15 —onF 113 T one 113 T onE ) 14 oNF 0) DNE | (0) 0 55 13
. DNF DNF DNF | (0) DNF | (0) DNF | (0)
17| HYSKOV 5 I'DNF 13 DNF 13 DNF | (0) 14 DNF | (0) DNF | (0) 0 45 10
. DNF DNF DNF | (0) DNF | (0) DNF | (0)
116} ULUAIN 6 DNF 13 DNF 13 DNF | (0) 14 DNF | (0) DNF | (0) 0 46 7
19 | MALE PRILEPY 13| BNF | 3 | DNF [13] 90,84 | (0) | 4 | DNF | (0) DNF | (0) 0




38,00 DNF BNF | (0) DNF | (0) DNF
20 | BAVORYNE 11 | onE 13 e 13 o Eg; 14 o Eg; 0 fonF
21| ViZINA 15 |-ON 1 13 1‘3?4;2 12 m ((100)) 8 [N E 28; 0 (2N
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